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Assessment 2 (10 or 11 am) Name (first & last): \(’C)'\/(
Dusty Wilson v
Math 220 ‘;c' =32 q % Unfortunately what is little recognized is that the most
' worthwhile scientific books are those in which the
No work = no credit author clearly indicates what he does not know; for an
. : author most hurts his readers by concealing
No calculator W =+ 3‘ V% difficulties.

Evariste Galois
1811 — 1832 (French mathematician)

Warm-ups (1 pt each): é= \/\ ] A vvdelyad [1 2}[ 2 ]: [o]
o 0 3 6 -1 o

1.) (1 pt) According to Galois (above), what most hurts scientific books? Answer using
complete English sentences.

Avthers shoold pot hida v sbswre whae

"‘("9’5 do  pot kwow.

1 0 2 -1
2.) (8 pts) Let & :[OJ’ e, =|:1J, i =[5], and ¥, =[ . jl', and let 7:R* - R’ be a linear

-2
transformation that maps €, into 3, and &, into y,. Find the image of { : J

_ - -2, P
A o “T( [ Tr—jx = [;“ elj | =
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1 2 3
3.) (8 pts) Determine whether the columns of 4=|4 S5 6| are linearly independent. If not,
7 8 9

find a linear dependence relation among its columns {&1 ,d, ,53}

! o -{ | ©
rrafc [A(E‘]\: o | | o
© o o | o

y,"& %x ‘
PEYRAER Y *“5-\?“’ Xy e
2 - - - -
) O/dg%,

‘:7 8\(" 25\1 *‘2\3 - 6

4.) (6 pts) True or False (circle one). Justify your answer.

a.) (Tor F) If 4 is an mXxn matrix, then the range of the transformation X — 4x is R".
. . M
Fadee . The codowmals js [

b.) (Tor F) Ifasetin R" is linearly dependent, then the set contains more vectors than there
are entries in each vector.

Fo«\be,. TS/\Q Set c,ou\c(' S:o{' exa(‘d)a&’ ’Au}qr-
walvde vhe 240 veckp .

c.) (T or F) The homogeneous equation 4% =0 has the trivial solution if and only if the
equation has at least one free variable.

Tl se . A - M; hos e
In'utal  sely.

Page 2 of 4



5.) (5 pts) Complete the proof by filling in the missing pieces.

E‘i;";L‘" An indexed set S = {vy,...,vp} of two or more vectors is linearly

dependent if and only if at least one of the vectors in Sis a linear
combination of the others. In fact, if S is linearly dependent and
vy # 0, thensome v; (with j > 1 )is a linear combination of the

preceding vectors, vi,...,vi.
| proed

(= || Assome. S s Lipaarly QJ&,,ﬂ 245 0bant .
If v, = © Huw i+ B a Q:mar- wmbaﬂwo.a
0f the other Veolors! OVyt c.wP v ]

TE ¥V, + B tHhwew L,VH' B~ c_w G + 25V b <3, Vi, 4w V0

p
whee Mot all of C’";-")C’P are 20, Syppose. !

S awd cyymmcpo,
- - e -
= &V 4L 4 Cyvy o+ c;vd,“-r- OVe =0
—
. . C_ -3 c" g
{ "‘ ) . — -1 .
= \/J W, - - ‘__% \/4—1
":! o

Wi ar leasr one Wecdor v $ 5 a [{pee
tomlsra¥ior oF e vy,

E(_-—_—;S ASSUTME &Y Jdast onNe YLD v § oy

a Wweasr Cald of Hp othe] (Vote: we v atwa

Lot h?::ie.n.d o
<. N .)4 - s !‘"‘G"“H

= 3 U,.Jf_d__’éﬁl. S, V'J = 61%* .. C’d 7V~

I Y Ay ) = -
| SV TV 4“\/‘3 + OV, +"'—*OVP:G

i 2ALO

= Y \\‘ww\ﬂ OQQAAeuo‘ap‘? fivce, Phere
I(; a VQNfov](q( Solv. o the kpﬂp%wj £
b2 Y

‘s 5 iy \,‘yea{’\ﬁ defavdept 88 sy leasy
one o? s veeg s .4 vy o mlbs. "9 14/1& m/‘ne/vs

o
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6.) (8 pts) Consider the homogeneous “system” 3x, —4x, +5x, = 0. Describe all solutions

algebraically (in vector form) and geometrically (use words to describe the graph).

[5 & 2]

AN = -3
/ : |

which 5 a Fta” e thru b
. 2 o
,}";,g % t"){?;(/u awd para el tO [\Ol v d { ?}
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